AAT LEVEL 4

Budgeting


REVISION 

Task 1.  16 marks
Sources of Data

Data
Answer

Inflation trends in UK
Office for National Statistics

Value Added Tax (VAT) rates
HMRC publications

Demand for our products
Market Research
Likely future economic policy
Political consultants

Own production efficiency
Costing system

Top 10 suppliers
Purchase ledger

Customer trading history
Sales ledger

Energy prices
Internet research

Potential raw material suppliers
Internet research
Who would you contact?

Situation
Answer

You want to identify the production capacity of the firm.

Production planning manager

You want to forecast the price of raw materials.

Buyer

The draft budget is ready for review.



Budget committee
You want to explain a labour rate variance


Human resources manager

You want to explain a labour efficiency variance


Production manager

You want to explain a material usage variance


Production manager

You want to explain a material price variance


Purchasing manager

You are looking into possible wage demands


Human resources manager

Match costs /revenue to appropriate budget






What is the appropriate accounting treatment?

(depends on choices available)

Situation

Answer

Holiday pay for production workers
Charge to production in a labour hr oar
Material wastage in the production process
Direct cost

Cost of the purchasing department
Activity based charge to product’n cost centres
Administrative wages
Allocate to administrative overheads

Computing services
Allocate to administrative overheads

Production equipment maintenance
Charge to production in a machine hour oar
Depreciation of production equipment
Charge to production in a machine hour oar
Redecoration of the sales showroom
Allocate to marketing overheads
Hiring specialised machinery for production
Direct cost

Sales team mobile phones
Allocate to sales/marketing overheads
Credit ref agency fees
Allocate to admin overheads

Supervision of direct labour
Charge to production in a labour hour oar
Task 2; production material and labour budgets.  19 marks
production budget 
	Alternative layout:

Complete the following production forecast for product P.
	

	Units of product P
	
	
	
	
	

	
	Week 1
	Week 2
	Week 3
	Week 4
	Week 5

	Sales volume
	16,000
	15,000
	14,500
	15,500
	17,000

	Opening inventory
	2200
	
	
	
	

	Closing inventory
	
	 
	 
	 
	

	Production
	 
	 
	 
	 
	

	Rejected production
	 
	 
	 
	 
	

	Total manufactured units
	
	
	
	
	

	
	
	
	
	
	

	Units of product P
	
	
	
	
	

	
	Week 1
	Week 2
	Week 3
	Week 4
	Week 5

	Opening stock

	2,200
	 
	 
	 
	

	Production

	 
	 
	 
	 
	

	Sub-total

	 
	 
	 
	 
	

	Sales
	16,000
	15,000
	14,500
	15,500
	17,000

	Closing stock

	 
	 
	 
	 
	

	
	
	
	
	
	

	Closing stock should be 20% of the following week's forecast sales

	
	
	
	
	
	


Dealing with production waste
	The quarterly production requirements for product L are shown below.
	

	7% of production fails the quality checks and must be scrapped.

	How many items of product L must be manufactured to allow for waste?

	
	
	
	
	
	
	

	
	Month 1
	Month 2
	Month 3
	
	
	

	Required units
	92,000
	95,000
	98,000
	
	
	

	Production units

	 
	 
	 
	
	
	

	
	
	
	
	
	
	


Stepped costs

Department X manufactures three products, A, B and C.

Calculate the machine hours required to manufacture these in November.

	Product
	Units
	Hours per unit
	Hours required

	A
	140
	1.5
	 

	B
	170
	2.0
	 

	C
	50
	2.5
	 

	Total hours for department X
	 


There are four machines in the department.

Each machine can be used for 100 hours in November. Additional machines can be hired if required.

	How many additional machines should be hired?
	 


Task 3; operating budget. 18 marks
	You are required to complete the operating budget below.
	

	This is the production budget
	
	
	

	Production budget
	Units
	
	

	Opening inventory of finished goods
	3,500
	
	

	Production budget
	22500
	
	

	Sub total
	26,000
	
	

	Sales
	22000
	
	

	Closing inventory of finished goods
	4,000
	
	

	
	
	
	

	Complete these three working schedules
	
	
	

	
	
	
	

	Materials
	
	
	

	Each unit produced requires
	1.3
	kg of material

	Closing inventory will be valued at budget purchase price
	

	Materials
	Kg
	£
	

	Opening inventory
	4100
	4000
	

	Purchases
	30000
	30000
	

	Sub total
	34100
	34000
	

	Used in production
	 

	 
	

	Closing inventory
	 

	 
	

	
	
	
	

	Labour
	
	
	

	It takes 5 minutes to make each item
	
	
	

	8 staff work 200 basic hours each
	
	
	

	Overtime is paid at time and a half
	
	
	

	Labour
	Hours
	£
	

	basic time @£11 per hour
	 

	 
	

	Overtime
	 

	 
	

	Total
	 

	 
	

	
	
	
	

	Overhead
	
	
	

	Variable overhead recovered on total labour hours
	
	

	Overhead
	Hours
	£
	

	Variable at £1.75 per hour
	 
	 
	

	Fixed
	 
	4500
	

	Total
	 
	 
	


	Closing inventory of finished goods is valued at cost of production


	
	
	

	Operating budget
	
	
	

	Operating budget
	Units
	£ per unit
	£

	sales revenue
	 
	3.00
	 

	cost of goods sold:

	 
	 
	 

	opening inventory of finished goods
	
	
	2750

	cost of production

	 
	£
	 

	Materials 
	
	 
	 

	Labour
	
	 
	 

	Overhead
	 
	 
	 

	Closing inventory of finished goods
	 
	 
	 

	Gross profit
	 
	 
	 

	Overheads:

	 
	 
	 

	Administration
	
	2500.00
	 

	Marketing
	
	3000.00
	 

	Operating Profit
	 
	 
	 

	
	
	
	


Task 4; seasonal variation and cash forecasts  17 marks
Seasonal variations. 

Don’t forget to extrapolate the trend.
Trend + seasonal variation = actual

This year sales are £900,000.

Analysis of recent years shows a growth trend of 5% per annum.

The seasonal variation has been:

· Quarter 1
+£25,000
· Quarter 2
+£10,000
· Quarter 3
–£15,000
· Quarter 4
–£20,000
Forecast the income for each quarter of next year.
 SHAPE  \* MERGEFORMAT 

[image: image1]

Budget breakdown
Use cost behavior knowledge to split annual figure into a month/ quarter

	Budget
	Year
	Quarter 1

	Sales
	
	

	
	
	

	Material
	
	

	Labour
	
	

	Overhead
	
	

	
	
	


	Cash forecasts

Don’t forget to add the opening cash balance
Prepare a Cash forecast for May from the following budget data

	
	
	
	
	
	
	
	
	

	Budget data
	March
	April
	May
	June
	
	Cash Forecast
	May
	

	
	£
	£
	£
	£
	
	
	£
	

	Invoiced sales
	2,000 
	2,500 
	2,700 
	2,500 
	
	Opening cash balance
	520
	

	
	
	
	
	
	
	
	
	

	Purchases
	500 
	800 
	1,200 
	1,000 
	
	Customer receipts
	 
	

	Wages
	500 
	510 
	450 
	480 
	
	
	
	

	Other overheads
	300 
	360 
	320 
	250 
	
	Payments
	
	

	Capital expenditure
	300 
	500 
	0 
	0 
	
	For purchases
	 
	

	
	
	
	
	
	
	For wages
	 
	

	Average terms
	
	
	
	
	
	For overheads
	 
	

	70%of customers take 1 month to pay. 30 % take 2 months.
	
	For capital exp.
	 
	

	Purchases paid for after two months
	
	Total
	 
	

	Wages paid in the current month
	
	
	
	

	Other overheads paid after one month
	
	Closing cash balance
	 
	

	Capital expenditure paid in the current month
	Show payments and receipts as plus figures.
	

	
	
	
	
	Negative balance = overdrawn
	

	
	
	
	
	
	
	
	
	


Personnel


Printing recruitment application forms














Cost of Production


Production wages


Raw material usage


Depreciation of equipment














Maintenance


Spare parts for production machines














Capital expenditure


Warehouse extension


Cars purchased for the sales team














Sales and Marketing


Advertising


Customer demand survey


Commission paid to sales staff


Depreciation on sales staff cars














Finance and Administration


Servicing of office computers


Office rent


Managing director’s salary


Interest












































Quarter	£





1


2


3


4


Year








�3: equals last periods closing stock


�4: balancing figure


�2: this equals sales +closing stock


�1: work this out


�Equals 100/93 * required units


�1


�2
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�heading


�heading
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